

Laplace transform of the product of two functions

Rami AlAhmad

Department of Mathematics

Yarmouk University

Irbid, JORDAN, 21163

and

Math and Natural Sciences

Faculty of Engineering

Higher Colleges of Technology

PO Box 4793, Ras Al Khaimah

UAE

rami.thenat@yu.edu.jo

Abstract. In this paper, we prove many propositions of Laplace transform. In particular, we prove that the Laplace transform of product of two functions, under certain conditions, satisfies

$$\mathcal{L}_s(f(t)h(t)) = \int_s^\infty (\mathcal{L}^{-1}h)(\xi - s)(\mathcal{L}f)(\xi)d\xi = \int_0^\infty (\mathcal{L}^{-1}h)(\xi)(\mathcal{L}f)(\xi + s)d\xi.$$

Then we find interesting relation between the Laplace of the product of two functions and their convolution. Also, using these results, we prove a generalized result that the Laplace transform of the convolution of two function is the product of their Laplace transforms. Finally, we find particular solutions of integral, differential and difference equations as application for these results.

Keywords: Laplace transform, Laplace transform of the product of two functions, integro-differential equations, integro-difference equations.

1. Introduction

Suppose that f is a real-valued function of the (time) variable $t > 0$ and s is a real variable. We define the Laplace transform of $f(t)$ as

$$(1.1) \quad \mathcal{L}_s(f(t)) = (\mathcal{L}f)(s) = F(s) = \int_0^\infty e^{-st} f(t)dt.$$

One of the disappointments of the Laplace transform is that the Laplace transform of the product of two functions is not the product of their Laplace transforms. In fact, the Laplace transform of the convolution of two functions is the product of their Laplace transforms.

$$\mathcal{L}_s((f * g)(t)) = \mathcal{L}_s\left(\int_0^t f(u)g(t - u)du\right) = \mathcal{L}_s(f(t)) \mathcal{L}_s(g(t)).$$

In this paper we answer the following question:

In [6], it is proved that the Laplace transform of the product of $f(t)$ and $\frac{1}{t}$ is

$$\mathcal{L}_s\left(\frac{f(t)}{t}\right) = \int_s^\infty F(\xi)d\xi.$$

Now, what are the Laplace transforms of the product of $f(t)$ and $\frac{1}{t^r}$ ($r > 0$)? of the product of $f(t)$ and $\frac{1}{t-a}$? of the product of $f(t)$ and $\frac{1}{t^2+a^2}$? or even the the product of $f(t)$ and $\frac{1}{t^2(t+3)(t^2+1)}$?

2. Main results

Theorem 2.1. *Assume that $\mathcal{L}(f(t)) = F(s)$ and $\mathcal{L}(g(t)) = G(s)$. If $\int_0^\infty \int_0^\infty e^{-(s+\xi)t} g(\xi)f(t)dtd\xi$ converges absolutely for $s > \alpha$, then $\mathcal{L}_s(f(t)G(t))$ is given as*

$$\begin{aligned} \mathcal{L}_s(f(t)G(t)) &= \mathcal{L}_s(f(t)\mathcal{L}(g(t))) \\ (2.1) \qquad &= \int_0^\infty g(\xi)F(\xi + s)d\xi = \int_s^\infty g(\xi - s)F(\xi)d\xi \text{ for } s > \alpha. \end{aligned}$$

Proof. By Fubini’s Theorem (see [5]), since $\int_0^\infty \int_0^\infty e^{-(s+\xi)t} g(\xi)f(t)dtd\xi$ converges absolutely for $s > \alpha$ then

$$\int_0^\infty \int_0^\infty e^{-(s+\xi)t} g(\xi)f(t)dtd\xi = \int_0^\infty \int_0^\infty e^{-(s+\xi)t} g(\xi)f(t)d\xi dt.$$

Therefore, for $s > \alpha$

$$\begin{aligned} \mathcal{L}_s(f(t)G(t)) &= \int_0^\infty e^{-st} f(t) \int_0^\infty e^{-\xi t} g(\xi)d\xi dt \\ &= \int_0^\infty g(\xi) \int_0^\infty e^{-(s+\xi)t} f(t)dtd\xi \\ &= \int_0^\infty g(\xi)F(s + \xi)d\xi \\ &= \int_s^\infty g(\xi - s)F(\xi)d\xi. \end{aligned}$$

□

This theorem can be read as: if $\int_0^\infty \int_0^\infty e^{-(s+\xi)t} (\mathcal{L}^{-1}h)(\xi)f(t)dtd\xi$ converges absolutely for $s > \alpha$. Then

$$\begin{aligned} \mathcal{L}_s(f(t)h(t)) &= \int_0^\infty (\mathcal{L}^{-1}h)(\xi)(\mathcal{L}f)(\xi + s)d\xi \\ (2.2) \qquad &= \int_s^\infty (\mathcal{L}^{-1}h)(\xi - s)(\mathcal{L}f)(\xi)d\xi \text{ for } s > \alpha. \end{aligned}$$

Example 2.2. Using the fact $\mathcal{L}(e^{-at}) = \frac{1}{s+a}$ we get

$$\mathcal{L}_s\left(\frac{f(t)}{t+a}\right) = \mathcal{L}(f(t)\mathcal{L}(e^{-at})) = e^{as} \int_s^\infty e^{-a\xi} F(\xi) d\xi.$$

Example 2.3.

$$\begin{aligned} \mathcal{L}_s\left(\frac{1-\cos(t)}{t^2}\right) &= \int_s^\infty (u-s)\left(\frac{1}{u} - \frac{u}{u^2+1}\right) du \\ &= \int_s^\infty \frac{du}{u^2+1} - s \int_s^\infty \left(\frac{1}{u} - \frac{u}{u^2+1}\right) du \\ &= \arctan\left(\frac{1}{s}\right) + s \ln\left(\frac{s}{\sqrt{s^2+1}}\right). \end{aligned}$$

Example 2.4. For $s > 1$

$$\begin{aligned} \mathcal{L}_s\left(\frac{e^t - t - 1}{t^2}\right) &= \int_s^\infty (\xi - s)\left(\frac{1}{\xi - 1} - \frac{1}{\xi^2} - \frac{1}{\xi}\right) d\xi \\ &= (s-1) \ln\left(\frac{s-1}{s}\right) - 1. \end{aligned}$$

Using this result, we will solve equations contain mixture of differential, difference and integral operators

Example 2.5. To solve the integral equation that

$$(2.3) \quad \int_x^\infty y(u-x)\left(\frac{2}{u^3} + \frac{3}{u^2} + \frac{2}{u}\right) du = \frac{7}{x} - \frac{3}{x^2}, x > 0.$$

The left side can be written as $\mathcal{L}_x(Y(t)(t^2 + 3t + 2))$, where $Y(t) = \mathcal{L}_t(y(x))$, and the right side is $\mathcal{L}_x(7 - 3t)$. Therefore, $Y(t) = \mathcal{L}_t(y(x)) = \frac{7-3t}{t^2+3t+2}$. This means that $y(x) = 10e^{-x} - 13e^{-2x}$ is a particular solution of the equation (2.3). To verify our answer, use interchanging the integration orders and the fact

$$Y(w) = \mathcal{L}_w(10e^{-x} - 13e^{-2x}) = \frac{10}{w+1} - \frac{13}{w+2} = \frac{7-3w}{(w+1)(w+2)}$$

to get that

$$\begin{aligned} \int_x^\infty y(u-x)\left(\frac{2}{u^3} + \frac{3}{u^2} + \frac{2}{u}\right) du &= \int_x^\infty y(u-x) \int_0^\infty e^{-wu}(w^2 + 3w + 2) dw du \\ &= \int_0^\infty (w^2 + 3w + 2) \int_x^\infty e^{-wu} y(u-x) du dw \\ &= \int_0^\infty e^{-wx}(w^2 + 3w + 2) \int_0^\infty e^{-wv} y(v) dv dw \\ &= \int_0^\infty e^{-wx}(w^2 + 3w + 2) Y(w) dw \\ &= \int_0^\infty e^{-wx}(7 - 3w) dw \\ &= \frac{7}{x} - \frac{3}{x^2}. \end{aligned}$$

Example 2.6. In this example, we find a solution for the difference-integral equation

$$y(x + 1) + \int_x^\infty (\xi - x)^2 y(\xi) d\xi = \frac{6}{(x + 1)^4} + \frac{2}{x}, x > -1.$$

The left side can be written as $\mathcal{L}_x(e^{-t} f(t) + \frac{2f(t)}{t^3})$, where $y(x) = \mathcal{L}_x(f(t))$, and the right side is $\mathcal{L}_x(t^3 e^{-t} + 2)$. Therefore, for $t > 0$, we have $f(t) = t^3$. This means $y(x) = \mathcal{L}_x(f(t)) = \frac{6}{x^4}$ is a solution of this equation.

Example 2.7. We wish to find a solution for the integro-differential equation

$$(2.4) \quad Y''(x) + Y(x + 1) + \int_x^\infty \sin(u - x) Y(u) du = e^{-3x}.$$

This equation is resulting by taking the Laplace transform of

$$t^2 y(t) + e^{-t} y(t) + \frac{y(t)}{t^2 + 1} = \delta(t - 3),$$

where $Y(x) = \mathcal{L}_x(y(t))$. Hence,

$$y(t) = \frac{(t^2 + 1)\delta(t - 3)}{(t^2 + 1)(t^2 + e^{-t}) + 1}.$$

Therefore,

$$Y(x) = \mathcal{L}_x(y(t)) = \frac{10e^{-3x}}{10(9 + e^{-3}) + 1}$$

is a particular solution for the equation (2.4).

The following result gives the Laplace transform for "the weighted convolution"

Corollary 2.8. *The Laplace transform of the product of $h(t)$ and the convolution of $f * g$ is given as*

$$\mathcal{L}_s(h(t)(f * g)(t)) = \int_s^\infty (\mathcal{L}^{-1}h)(\xi - s) F(\xi) G(\xi) d\xi.$$

In particular, if $h(t) = 1$ then we get

$$\mathcal{L}_s((f * g)(t)) = \int_s^\infty \delta(\xi - s) F(\xi) G(\xi) d\xi = F(s) G(s),$$

which is the well-known result that the Laplace transform of the convolution of two function is the product of their Laplace transforms.

Example 2.9. Use $f(t) = g(t) = \sin t$ and $h(t) = \frac{2}{t^3}$ to get that

$$\begin{aligned} \mathcal{L}_s\left(\frac{\sin t - t \cos t}{t^3}\right) &= \mathcal{L}_s\left(\frac{2(f * g)(t)}{t^3}\right) \\ &= \int_s^\infty \frac{(\xi - s)^2}{(\xi^2 + 1)^2} d\xi = \frac{1}{4}(\pi s^2 - 2(s^2 + 1) \arctan(s) - 2s + \pi). \end{aligned}$$

One of the application of this result is the following interesting relations between convolution and the Laplace transform of the product of two functions

Corollary 2.10.

$$\int_0^{\infty} h(u) \mathcal{L}_u(f(t)(\mathcal{L}g)(t)) du = \int_0^{\infty} (\mathcal{L}f)(\xi)(g * h)(\xi) d\xi.$$

In particular,

$$\mathcal{L}_u(f(t)(\mathcal{L}g)(t))(a) = \int_0^{\infty} (\mathcal{L}f)(\xi)(e^{-at} * h(t))(\xi) d\xi.$$

Proof.

$$\begin{aligned} \int_0^{\infty} h(u) \mathcal{L}_u(f(t)(\mathcal{L}g)(t)) du &= \int_0^{\infty} h(u) \left(\int_u^{\infty} g(\xi - u) F(\xi) d\xi \right) du \\ &= \int_0^{\infty} h(u) \left(\int_u^{\infty} g(\xi - u) F(\xi) d\xi \right) du \\ &= \int_0^{\infty} F(\xi) \left(\int_0^{\xi} g(\xi - u) h(u) du \right) d\xi \\ &= \int_0^{\infty} F(\xi)(g * h)(\xi) d\xi. \end{aligned}$$

□

References

- [1] R. G. Buschman, *A substitution theorem for the Laplace transformation and its generalization to transformations with symmetric kernel*, Pacific J. Math., 7 (1957), 1529-1533.
- [2] R. G. Buschman, *An integral transformation relation*, Proc. Amer. Math. Soc., 9 (1958), 956-958.
- [3] A. Erdélyi et al, *Tables of integral transforms*, Vol. 1, McGraw-Hill, New York, 1954.
- [4] Gradshteyn and Ryzhik's Table of Integrals, Series, and Products Daniel Zwillinger and Victor Moll (eds.), Eighth edition (Oct 2014) 1,184 pages, ISBN number: 0-12-384933-0
- [5] Walter Rudin, *Real and complex analysis*, McGraw-Hill Science/Engineering/Math; 3 edition, 1986.
- [6] Joel L. Schiff, *The Laplace transform: theory and applications*, ISBN 978-0-387-98698-2, Springer, 1999, Undergraduate Texts in Mathematics.

Accepted: 11.01.2019